=
<

o(0 @) (rad)

1070

105

10

‘|+H+-+§+++++HH+§++H}+H++§+++M++H++H+§HHﬁ|

-1 0 1 2 3
TP n (PCA to beamline)

Ratl
o

0.95
23 -2

a(d cot(d))

10

Rat

105

i

++++++*+§++-++++++-++§++++++++++?r*-+++*H++§{}"-

0.95!

-2

-1

0 1 2 3
TP n (PCA to beamline)

—=— DQM_mkFit_QCDHighPt_base

—— DQM_mkFit_QCDHighPt_retrain

SICEWATL

lﬁ'ﬁ'++#ﬂ?+HHH++§H+H+H++§ﬂHHH#;{+-HﬂH-H;+HH-+H+

-1 0 1 2 3
TP n (PCA to beamline)

=3 -2

o p/p.)

++§+++{+.+$+++§{++++++++{é,{+++++++#§++#+ﬁﬁ+;‘}++++.+

T 0 1 2 3
TP n (PCA to beamline)

Sk p—

oo a,) (cm)

z

-2

-1

0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


